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General English - General English

Question No.1 Marks: 1.00
Bookmark
     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.



A doctrine which identifies God with the universe


(A) Plagiarism

(B) Verbatim

(C) Axiom

(D) Pantheism
(Correct Answer)




Question No.2 Marks: 1.00
Bookmark
     

Choose the correct article to complete the following sentence.



Realme is all set to launch ___________ elegant phone in India today.

(A) an
(Correct Answer)


(B) the
(Chosen option) 

(C) a


(D) No article


Question No.3 Marks: 1.00
Bookmark
     

Choose the word which expresses nearly the opposite meaning of the given word "
ALLIANCE ".


(A) Coherence

(B) Support

(C) Tie

(D) Divorce
(Correct Answer) (Chosen option) 




Question No.4 Marks: 1.00
Bookmark
     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)



(A) FIFA has announce that Crypto.com / (B) will be an Official Sponsor / (C) of the FIFA
World Cup Qatar 2022. / (D) No Error


(A) B

(B) D

(C) C

(D) A
(Correct Answer) (Chosen option) 
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Question No.5 Marks: 1.00
Bookmark
     

Fill in the blanks with suitable Article from the given alternatives.



I am nearing __________ end of the given project.

(A) a


(B) No article

(C) the
(Correct Answer) (Chosen option) 


(D) an


Question No.6 Marks: 1.00
Bookmark
     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.



The corals in the southern Israeli port Eilat are more like perishing due to the toxins
and pollution from human activity and industry entering the bay on a daily basis.


(A) is most likely perishing due to the

(B) is most likely perishes due to the

(C) are most likely perishing due to the
(Correct Answer) (Chosen option) 


(D) The given sentence is correct


Question No.7 Marks: 1.00
Bookmark
     

Find the word which is correctly spelt from the given options.

(A) Goverment


(B) Auspicious
(Correct Answer) (Chosen option) 

(C) Consumar


(D) Theoram


Question No.8 Marks: 1.00
Bookmark
     

Fill in the blank with suitable word from the given options.



How can I blame him? It wasn't ___________.

(A) extremely


(B) recover

(C) manage

(D) intentional
(Correct Answer) (Chosen option) 




Question No.9 Marks: 1.00
Bookmark
     

Choose the word which expresses nearly the opposite meaning of the given word "
UPHOLD ".


(A) Hoist

(B) Assist

(C) Destroy
(Correct Answer) (Chosen option) 


(D) Sustain


Question No.10 Marks: 1.00
Bookmark
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Fill in the blanks with suitable Preposition from the given alternatives.

I fell asleep ____________ the drama.
(A) since

(B) for

(C) on

(D) during
(Correct Answer) (Chosen option) 




Question No.11 Marks: 1.00
Bookmark
     

Fill in the blanks with suitable Article from the given alternatives.



Dhruv is __________ kind hearted person.

(A) the


(B) an

(C) No article

(D) a
(Correct Answer) (Chosen option) 




Question No.12 Marks: 1.00
Bookmark
     

Find the word which is correctly spelt from the given options.

(A) Magnificent
(Correct Answer) (Chosen option) 


(B) Sponteneous

(C) Harange

(D) Puntuality


Question No.13 Marks: 1.00
Bookmark
     

In the following question, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. (Avoid
punctuation errors)



(A) Shiba Inu was launched as an alternative / (B) to Dogecoin (DOGE) at August 2020 /
(C) by an anonymous person. / (D) No Error


(A) D

(B) C

(C) B
(Correct Answer) (Chosen option) 


(D) A


Question No.14 Marks: 1.00
Bookmark
     

Fill in the blank with suitable tense.



Teachers __________ us activity every week.

(A) has given


(B) gives

(C) have been given

(D) give
(Correct Answer) (Chosen option) 




Question No.15 Marks: 1.00
Bookmark
     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
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correct'.

Union ministers Nirmala Sitharaman and Subrahmanyam Jaishankar will being
conferred the Distinguished Alumni Award by Jawaharlal Nehru University.
(A) will be conferred the Distinguished (Correct Answer) (Chosen option) 


(B) will conferred the Distinguished 
(C) will be confers the Distinguished 
(D) The given sentence is correct


Question No.16 Marks: 1.00
Bookmark
     

Find the word which is correctly spelt from the given options.

(A) Sheltared


(B) Slauughter

(C) Adoloscent

(D) Passionate
(Correct Answer) (Chosen option) 




Question No.17 Marks: 1.00
Bookmark
     

Choose the word which best expresses the similar meaning of the given word "
DESPISE ".


(A) Hate
(Correct Answer)

(B) Small


(C) Adore
(Chosen option) 

(D) Accept


Question No.18 Marks: 1.00
Bookmark
     

Fill in the blanks with suitable Preposition from the given alternatives.



Rock doesn’t go out _____________ Sunday morning. 

(A) on
(Correct Answer)


(B) at

(C) for

(D) in
(Chosen option) 




Question No.19 Marks: 1.00
Bookmark
     

Fill in the correct prepositions.



The teacher asked the student to draw a straight line ____________ the top of the page.

(A) among


(B) against

(C) between

(D) across
(Correct Answer) (Chosen option) 




Question No.20 Marks: 1.00
Bookmark
     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.



Certain to happen


(A) Indelible
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(B) Exonerate

(C) Infallible

(D) Inevitable
(Correct Answer) (Chosen option) 




Question No.21 Marks: 1.00
Bookmark
     

Choose the word which best expresses the similar meaning of the given word "
FORMIDABLE ".


(A) Calm

(B) Trivial

(C) Poor

(D) Horrible
(Correct Answer)




Question No.22 Marks: 1.00
Bookmark
     

Fill in the blank with suitable word from the given options.



Government officers clearly deserve some of the ______________ as well.

(A) curve


(B) violate

(C) behalf

(D) blame
(Correct Answer) (Chosen option) 




Question No.23 Marks: 1.00
Bookmark
     

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.



Fond of company


(A) Crusade

(B) Abdication

(C) Souvenir

(D) Gregarious
(Correct Answer)




Question No.24 Marks: 1.00
Bookmark
     

Fill in the blank with suitable tense.



They ____________ in Brussels for ten years.

(A) lives


(B) has lived

(C) have lived
(Correct Answer) (Chosen option) 


(D) are lived


Question No.25 Marks: 1.00
Bookmark
     

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.



All three sectors have skilled labourers/professionals who have been working hard
to build the country’s economy.


(A) sector have skilled labourers/professionals who have
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(B) sectors has skilled labourers/professionals who have

(C) sector have skilled labourers/professionals who has

(D) The given sentence is correct
(Correct Answer) (Chosen option) 



Odia Language - Odia Language

Question No.1 Marks: 1.00
Bookmark
     

ସେ ଗୁଣର ପିଲା । - ବାକ୍ୟରେ ଥିବା 'ଗୁଣର' କେଉଁ ବିଭକ୍ତି ?



(A) ପଞ୍ଚମୀ


(B) ତୃ ତୀୟା


(C) ଷଷ୍ଠୀ
(Correct Answer) (Chosen option) 



(D) ସପ୍ତମୀ


Question No.2 Marks: 1.00
Bookmark
     

'ପୃଥିବୀ'- ଶବ୍ଦର ସମାର୍ଥବୋଧକ ଶବ୍ଦଟି କ'ଣ ?	
(A) ବିଶ୍ୱମ୍ଭରା
(Correct Answer)



(B) ଶ୍ରୀ


(C) ଦିଶ
(Chosen option) 



(D) ଓଷଧୀଶ


Question No.3 Marks: 1.00
Bookmark
     

‘ଚ’ ଏକ କେଉଁ ବର୍ଗର ବ୍ୟଞ୍ଜନ ଧ୍ୱନି?



(A) ଓଷ୍ଠ୍ୟ ବ୍ୟଞ୍ଜନ


(B) ତାଲବ୍ୟ ବ୍ୟଞ୍ଜନ
(Correct Answer) (Chosen option) 



(C) ଦନ୍ତ୍ୟ ବ୍ୟଞ୍ଜନ


(D) କଣ୍ଠ୍ୟ ବ୍ୟଞ୍ଜନ


Question No.4 Marks: 1.00
Bookmark
     

'ଶେଷ' - ଶବ୍ଦର ବିପରୀତ ଶବ୍ଦ କ'ଣ ?



(A) ଅଶେଷ 

(B) ଆରମ୍ଭ
(Correct Answer) (Chosen option) 



(C) ଉଦ୍ ଯୋଗ 

(D) ଉପକ୍ରମ 

Question No.5 Marks: 1.00
Bookmark
     

‘ଯଥାଶକ୍ତି’ ଏହା କେଉଁ ପ୍ରକାର ସମାସ?



(A) ବହୁବ୍ରିହୀ


(B) କର୍ମଧାରୟ
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(C) ଅବ୍ୟୟୀଭାବ
(Correct Answer) (Chosen option) 

(D) ଦ୍ୱନ୍ଦ୍ୱ


Question No.6 Marks: 1.00
Bookmark
     

ପ୍ରଦତ୍ତ ଶବ୍ଦ ମଧ୍ୟରୁ  କେଉଁ ଶବ୍ଦଟି ଠିକ - ଚିହ୍ନାଇ ଦିଅ ?



(A) ଟିପ୍ପଣୀ
(Correct Answer) (Chosen option) 



(B) ଟୀପ୍ପଣି


(C) ଟିପଣୀ


(D) ଟିପ୍ପଣି


Question No.7 Marks: 1.00
Bookmark
     

ଦେଖାଣିଆ ଶବ୍ଦଟି କି ପ୍ରକାର ଶବ୍ଦ?



(A) କୃଦନ୍ତ
(Correct Answer)



(B) ତଦ୍ଧିତ


(C) ସନନ୍ତ


(D) ଯଙନ୍ତ


Question No.8 Marks: 1.00
Bookmark
     

‘ଓଷଧୀଶ’ ଶବ୍ଦଟି କାହାର ପ୍ରତିଶବ୍ଦ?



(A) ଔଷଧ


(B) ଚନ୍ଦ୍ର
(Correct Answer)



(C) ଡାକ୍ତର
(Chosen option) 



(D) ସୂର୍ଯ୍ୟ


Question No.9 Marks: 1.00
Bookmark
     

ବୃଦ୍ଧ ବ୍ୟକ୍ତି - ରେଖାଙ୍କିତ ପଦଟି କେଉଁ ପ୍ରକାର ବିଶେଷଣ ?



(A) ସର୍ବନାମ ବିଶେଷଣ 

(B) ପରିମାଣବାଚକ ବିଶେଷଣ 

(C) କ୍ରିୟା ବିଶେଷଣ 

(D) ବିଶେଷ୍ୟର ବିଶେଷଣ (Correct Answer) (Chosen option) 

Question No.10 Marks: 1.00
Bookmark
     

ଠିକ ଶବ୍ଦଟି ଚିହ୍ନାଇ ଦିଅ ।



(A) ମନୋମାଳିନ୍ୟ
(Correct Answer)



(B) ମନଃମାଳିନ୍ୟ


(C) ମନମାଳିନ୍ୟ
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(D) ମନମାଳିନ


Question No.11 Marks: 1.00
Bookmark
     

'ପଦ୍ମ' - ଶବ୍ଦର ସମାର୍ଥବୋଧକ ଶବ୍ଦ କ'ଣ ?



(A) ସଲିଳ


(B) ସରୋଜ
(Correct Answer) (Chosen option) 



(C) ପୁଷ୍କର


(D) ପ୍ରସୂନ 

Question No.12 Marks: 1.00
Bookmark
     

'ଆବିର୍ଭାବ' - ଶବ୍ଦର ବିପରିତ ଶବ୍ଦ କ'ଣ ?
(A) ତିରୋଦ୍ ଭାବ


(B) ତିରୋଧନ
(Chosen option) 



(C) ତିରୋଧାନ
(Correct Answer)



(D) ତୀରୋଭାବ


Question No.13 Marks: 1.00
Bookmark
     

ଏଇ କି ସେ ଆର୍ଯ୍ୟଭୂ ମି ! ରେଖାଙ୍କିତ ପଦଟି କି ପ୍ରକାର ସର୍ବନାମ ?



(A) ପ୍ରଶ୍ନବାଚକ ସର୍ବନାମ


(B) ଆପେକ୍ଷିକ ସର୍ବନାମ


(C) ନିର୍ଦ୍ଦେଶାତ୍ମକ ସର୍ବନାମ
(Correct Answer) (Chosen option) 



(D) ନିର୍ଣ୍ଣାୟକ ସର୍ବନାମ


Question No.14 Marks: 1.00
Bookmark
     

‘ପୁରୋହିତ’ ଶବ୍ଦର ବିପରୀତାର୍ଥକ ଶବ୍ଦ କଣ?



(A) ରୋହିତ


(B) ଯଜମାନ
(Correct Answer) (Chosen option) 



(C) ଠାକୁର


(D) ଅହିତ


Question No.15 Marks: 1.00
Bookmark
     

ଶ୍‌, ଷ୍‌, ସ୍‌, ହ୍‌- ଏଗୁଡ଼ିକ କି ପ୍ରକାର ବର୍ଣ୍ଣ?



(A) ଅନୁନାସିକ ବର୍ଣ୍ଣ


(B) ଅଯୋଗବାହ ବର୍ଣ୍ଣ


(C) ଅନ୍ତଃସ୍ଥ ବର୍ଣ୍ଣ


(D) ଉଷ୍ମ ବର୍ଣ୍ଣ
(Correct Answer)
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Question No.16 Marks: 1.00
Bookmark
     

ମଶାକୁ ଧୂଆଁ ଦିଅ । - ବାକ୍ୟରେ ଥିବା 'ମଶାକୁ ' କେଉଁ ବିଭକ୍ତି ?



(A) ଚତୁ ର୍ଥୀ
(Correct Answer) (Chosen option) 



(B) ପଞ୍ଚମୀ


(C) ଦ୍ୱିତୀୟା


(D) ତୃ ତୀୟା


Question No.17 Marks: 1.00
Bookmark
     

‘ଜନ୍ମାନ୍ତର’ ଶବ୍ଦ କେଉଁ ସମାସର ଉଦାହରଣ?



(A) ଦ୍ୱିଗୁ


(B) ବହୁବ୍ରୀହି


(C) କର୍ମଧାରୟ
(Correct Answer) (Chosen option) 



(D) ଦ୍ୱନ୍ଦ୍ୱ


Question No.18 Marks: 1.00
Bookmark
     

ବୁରୁ ଜା ନିପଟ ମଫସଲିଆ ଲୋକ । ରେଖାଙ୍କିତ ପଦଟି କି ପ୍ରକାର ବିଶେଷଣ?



(A) ଗୁଣବାଚକ


(B) କ୍ରିୟାଜ ବିଶେଷଣ


(C) ବିଶେଷଣର ବିଶେଷଣ
(Correct Answer) (Chosen option) 



(D) କ୍ରିୟାବିଶେଷଣ


Question No.19 Marks: 1.00
Bookmark
     

‘ଲଘିଷ୍ଠ’ ଶବ୍ଦର ମୂଳ ବିଶେଷଣଟି କଣ?



(A) ଲଘି


(B) ଲଘୁ
(Correct Answer) (Chosen option) 



(C) ଲାଘ


(D) ଲଘ


Question No.20 Marks: 1.00
Bookmark
     

‘ବିଦ୍ୱାନ୍‌’ ଶବ୍ଦର ସ୍ତ୍ରୀଲିଙ୍ଗ ବାଚକ ଶବ୍ଦଟି ବାଛ-



(A) ବିଦୁଷୁଣୀ


(B) ବିଦ୍ୱାନୀ


(C) ବିଦୁଷୀ
(Correct Answer) (Chosen option) 



(D) ବିଦ୍ୱାନା


Question No.21 Marks: 1.00
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Bookmark
     
‘କୋଟିବ୍ରହ୍ମାଣ୍ଡ ସୁନ୍ଦରୀ’ ଓଡ଼ିଆ ସାହିତ୍ୟର ନୈଷଧ । ରେଖାଙ୍କିତ ପଦଟି କେଉଁ ପ୍ରକାର ବିଶେଷ୍ୟ?



(A) ଜାତିବାଚକ
(Correct Answer) (Chosen option) 



(B) ବ୍ୟକ୍ତିବାଚକ


(C) କ୍ରିୟାବାଚକ


(D) ଗୁଣବାଚକ


Question No.22 Marks: 1.00
Bookmark
     

ଶୁଦ୍ଧ ରୂ ପଟି ବାଛ ।



(A) ଦାରିଦ୍ର‌୍ୟ
(Correct Answer)



(B) ଦାରିଦ୍ର‌୍ୟତା
(Chosen option) 



(C) ଦିରିଦ୍ର


(D) ଦରିଦ୍ର‌୍ୟତା


Question No.23 Marks: 1.00
Bookmark
     

'ନିମିତ୍ତାର୍ଥେ' କେଉଁ ବିଭକ୍ତି ହୁଏ ?



(A) ଷଷ୍ଠୀ


(B) ପଞ୍ଚମୀ


(C) ଦ୍ୱିତୀୟା


(D) ଚତୁ ର୍ଥୀ
(Correct Answer) (Chosen option) 



Question No.24 Marks: 1.00
Bookmark
     

'ମାନ' - ଶବ୍ଦର ବିପରିତ ଶବ୍ଦ କ'ଣ ?



(A) ବିମାନ


(B) ଅମାନ


(C) ଅପମାନ
(Correct Answer) (Chosen option) 



(D) ଗୁମାନ


Question No.25 Marks: 1.00
Bookmark
     

ନିମ୍ନୋକ୍ତ ମଧ୍ୟରୁ  କେଉଁଟି ସଘୋଷ ବ୍ୟଞ୍ଜନ ଧ୍ୱନି?



(A) ଙ


(B) ଶ


(C) ଖ


(D) ଯ
(Correct Answer)



General Studies - General Studies

Question No.1 Marks: 1.00
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Bookmark
     
Find the next term in given series.


GENERATION, ERAT, ENERATIO, RA, ?

(A) NERATI
(Correct Answer) (Chosen option) 


(B) ERATIO

(C) RATIO

(D) NERATIO


Question No.2 Marks: 1.00
Bookmark
     

Which of the following movements was launched by the Indian National Congress
against the Partition of Bengal in 1905?


(A) Swadeshi Movement
(Correct Answer) (Chosen option) 

(B) Non-Cooperation Movement


(C) Quit India Movement

(D) Civil Disobedience Movement


Question No.3 Marks: 1.00
Bookmark
     

How many oxygen atoms are present in an Ozone molecule?

(A) 1


(B) 4

(C) 2

(D) 3
(Correct Answer) (Chosen option) 




Question No.4 Marks: 1.00
Bookmark
     

In this question, a statement is given followed by two conclusions numbered i and
ii. You have to assume everything in the statement to be true, then consider the
two conclusions together and decide which of them logically follows beyond a
reasonable doubt from the information given in the statement.


Statement: Only Automobiles and Auto parts, are considered as luxury goods. ABC
Ltd., produces auto parts.


Conclusion:

i) ABC Ltd., doesn't produce Automobiles.


ii) ABC Ltd., produces Automobiles.



Choose the appropriate one from the following options

(A) Only conclusion i follows


(B) Only conclusion ii follows

(C) Either i or ii follows


(D) Neither i nor ii follows 

(E) Both i and ii follow.


(A) C
(Correct Answer)

(B) D


(C) A
(Chosen option) 

(D) B


Question No.5 Marks: 1.00
Bookmark
     

Mahanadi river forms a gorge at ____ in Eastern Ghats.

(A) Gohira


(B) Satkosia
(Correct Answer) (Chosen option) 

(C) Boudh
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(D) Sonapur


Question No.6 Marks: 1.00
Bookmark
     

How many agro-climatic zones are there in Odisha at present?

(A) 11


(B) 10
(Correct Answer)

(C) 15


(D) 12


Question No.7 Marks: 1.00
Bookmark
     

The Human Rights Council was created by the United Nations General Assembly in the
year:


(A) 1951
(Chosen option) 

(B) 1945


(C) 2006
(Correct Answer)

(D) 2004


Question No.8 Marks: 1.00
Bookmark
     

A can finish a work in 1140 days and B can do the same work in 2280 days. Working
together, they will complete the same work in how many days?


(A) 775

(B) 770

(C) 750

(D) 760
(Correct Answer) (Chosen option) 




Question No.9 Marks: 1.00
Bookmark
     

A man facing in North-West direction turns 45 degrees clockwise, then turns 315
degrees anti-clockwise and then turns 45 degrees in clockwise direction. Which direction
is he facing now?


(A) North-West

(B) South-West

(C) North

(D) East
(Correct Answer) (Chosen option) 




Question No.10 Marks: 1.00
Bookmark
     

Two places, Agra and Bangalore are 3924 kms apart. A train leaves from Agra to
Bangalore and at the same time, another train leaves from Bangalore to Agra. The two
trains meet at the end of 36 hours. If the train travelling from Agra to Bangalore travels
36 kmph faster than the other, find the speed of the faster train. (In kmph)


(A) 72.5
(Correct Answer) (Chosen option) 

(B) 74.5


(C) 76.5

(D) 78.5


Question No.11 Marks: 1.00
Bookmark
     

Who among the following initiated the Khilafat Movement?
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(A) Zakir Hussain and Jabir ibn Hayyan

(B) Fakhruddin Ali Ahmad and Seyyed Hossein Nasr

(C) Shaukat Ali and Muhammad Ali (Correct Answer) (Chosen option) 


(D) Maulana Abul Azad and Muhammad al-Shaybani


Question No.12 Marks: 1.00
Bookmark
     

Find the highest length which can be used to measure exactly the lengths 42 m, 63 m,
84 m and 105 m.(In m)


(A) 21
(Correct Answer) (Chosen option) 

(B) 24


(C) 22

(D) 23


Question No.13 Marks: 1.00
Bookmark
     

What is 20% of 40% of 30% of 75% of 3400?

(A) 61.4


(B) 61.5

(C) 61.1

(D) 61.2
(Correct Answer) (Chosen option) 




Question No.14 Marks: 1.00
Bookmark
     

The concept of "Fundamental Rights" in the Indian Constitution is borrowed from:

(A) Canadian Constitution


(B) USA Constitution
(Correct Answer) (Chosen option) 

(C) Australian Constitution


(D) South African Constitution


Question No.15 Marks: 1.00
Bookmark
     

How many articles are there in the Part IVA of the Indian Constitution?

(A) Two


(B) One (Correct Answer)

(C) Eleven
(Chosen option) 

(D) Nine


Question No.16 Marks: 1.00
Bookmark
     

By selling a pen drive for Rs.1452, a shopkeeper incurs a loss of 12%. Find the cost
price of the pen drive.(in Rs.)


(A) 1650
(Correct Answer) (Chosen option) 

(B) 1652


(C) 1647

(D) 1645


Question No.17 Marks: 1.00
Bookmark
     

Who among the following has been appointed as the vice-president of the Beijing-based
Asian Infrastructure Investment Bank (AIIB) in January 2022?
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(A) Urjit Patel
(Correct Answer)
(B) Raghuram Rajan

(C) Gita Gopinath
(Chosen option) 


(D) Arvind Subramanian


Question No.18 Marks: 1.00
Bookmark
     

Which district has recently declared itself as Odisha’s 1st Child Marriage Free District?

(A) Ganjam
(Correct Answer)


(B) Sundargarh

(C) Balasore
(Chosen option) 


(D) Jajpur


Question No.19 Marks: 1.00
Bookmark
     

Which is the origin language for the word "Democracy"?

(A) Latin


(B) Spanish

(C) Hebrew

(D) Greek (Correct Answer) (Chosen option) 




Question No.20 Marks: 1.00
Bookmark
     

Which of the following states has the highest representation in the Lok Sabha?

(A) Maharashtra


(B) Uttar Pradesh
(Correct Answer) (Chosen option) 

(C) West Bengal


(D) Madhya Pradesh


Question No.21 Marks: 1.00
Bookmark
     

The average weight of P, Q and R is 51 kg. If the average weight of P and Q is 45 kg
and that of Q and R is 46 kg, what is the weight of Q?(In kg)


(A) 27

(B) 28

(C) 30

(D) 29
(Correct Answer) (Chosen option) 




Question No.22 Marks: 1.00
Bookmark
     

In a certain code language, if CAR is coded as 145 and ATE is coded as 436, then how
is ACE coded?


(A) 416
(Correct Answer) (Chosen option) 

(B) 546


(C) 435

(D) 365


Question No.23 Marks: 1.00
Bookmark
     

Which of the following rivers is called Dakshin Ganga?

(A) Narmada
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(B) Krishna

(C) Mahanadi

(D) Godavari
(Correct Answer) (Chosen option) 




Question No.24 Marks: 1.00
Bookmark
     

Find the next number in the series.

167, 260, 333, 386, 419, ?


(A) 402

(B) 412

(C) 422

(D) 432
(Correct Answer) (Chosen option) 




Question No.25 Marks: 1.00
Bookmark
     

Who among the following was the political mentor of Mahatma Gandhi?

(A) Bal Gangadhar Tilak


(B) Lala Lajpat Rai

(C) Gopal Krishna Gokhale
(Correct Answer) (Chosen option) 


(D) Rajendra Prasad


Question No.26 Marks: 1.00
Bookmark
     

What is the shape of the Peninsular Plateau of India which lies to the south of the
Northern plains?


(A) Triangular
(Correct Answer) (Chosen option) 

(B) Pentagon


(C) Rectangle

(D) Hexagonal


Question No.27 Marks: 1.00
Bookmark
     

Read the given details carefully and answer the question given below



A+B means A is the brother of B
A-B means A is the sister of B


A*B means A is the father of B

A/B means A is the mother of B



In the relation P+Q-R-S+T, how is Q related to T?

(A) Brother


(B) Cousin

(C) Father

(D) Sister
(Correct Answer) (Chosen option) 




Question No.28 Marks: 1.00
Bookmark
     

A woman walked 2km in the West direction, took a left turn and walked 16km and
walked 15km after taking another left. She then walked 16km in the North direction and
finally took a left turn and covered the distance of 3km. How far is the starting point from
the ending point?


(A) 10km
(Correct Answer) (Chosen option) 

(B) 12km
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(C) 14km

(D) 13km


Question No.29 Marks: 1.00
Bookmark
     

The Sun Temple of Konark was built by:

(A) Rajaraja I


(B) Indravaraman

(C) Rajaraja II 
(D) Narasimhadeva I
(Correct Answer) (Chosen option) 




Question No.30 Marks: 1.00
Bookmark
     

In February 2022, which Country successfully tested a new naval air defence system “C-
Dome"?


(A) United States of America

(B) United Kingdom

(C) Russia

(D) Israel
(Correct Answer) (Chosen option) 




Question No.31 Marks: 1.00
Bookmark
     

Which district of Odisha has the lowest urban male literacy rate as per Census 2011?

(A) Malkangiri (Correct Answer)


(B) Nabarangpur
(Chosen option) 

(C) Jajpur


(D) Jagatsinghapur


Question No.32 Marks: 1.00
Bookmark
     

If a man covers the first half of the journey at 286 kmph and the second half of the
journey at 429 kmph, find the average speed of the total journey. (In kmph)


(A) 347.2

(B) 343.2
(Correct Answer) (Chosen option) 
(C) 345.2

(D) 341.2


Question No.33 Marks: 1.00
Bookmark
     

Who is the founder of the Gaudiya Vaishnavism?

(A) Guru Ravidas


(B) Chaitanya Mahaprabhu
(Correct Answer)

(C) Madhvacharya


(D) Vallabhacharya Mahaprabhu
(Chosen option) 



Question No.34 Marks: 1.00
Bookmark
     

Which of the following smog is also known as "Los Angeles Smog"?

(A) Purple Smog


(B) Sulfurous Smog

(C) Radioactive smog
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(D) Photochemical Smog
(Correct Answer)

Question No.35 Marks: 1.00
Bookmark
     

Where did the Indian National Congress Split of 1907 happen?

(A) Surat
(Correct Answer) (Chosen option) 


(B) Madras

(C) Calcutta

(D) Bombay 

Question No.36 Marks: 1.00
Bookmark
     

Find the next number in the series.

1, 17, 54, 231, 908, ?


(A) 3649
(Correct Answer) (Chosen option) 

(B) 3749


(C) 3849

(D) 3949


Question No.37 Marks: 1.00
Bookmark
     

A box containing the denominations of five rupee coins, two rupee coins and ten rupee
coins amount to Rs.1972. There are equal number of coins in all denominations. What is
the total number of coins in the box?


(A) 328

(B) 118

(C) 116

(D) 348
(Correct Answer) (Chosen option) 




Question No.38 Marks: 1.00
Bookmark
     

In India, the topographical maps are published by the _______.

(A) Geological Survey of India


(B) Indian Space Research Organisation

(C) Defence and Research Development Organisation

(D) Survey of India
(Correct Answer) (Chosen option) 




Question No.39 Marks: 1.00
Bookmark
     

Which of the following Union ministries is currently implementing Soil Health Card (SHC)
Scheme in India?


(A) Ministry of Science & Technology

(B) Ministry of Earth Sciences

(C) Ministry of Agriculture and Farmers Welfare
(Correct Answer)


(D) Ministry of Environment, Forest and Climate Change
(Chosen option) 



Question No.40 Marks: 1.00
Bookmark
     

Pradhan Mantri Kaushal Vikas Yojana (PMKVY) is implemented by:

(A) National Skill Development Corporation
(Correct Answer) (Chosen option) 


(B) National Agricultural Cooperative Marketing Federation of India
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(C) Agriculture and processed food production export Development Authority

(D) Khadi and Village Industries Commission


Question No.41 Marks: 1.00
Bookmark
     

The 13th century Biraja Temple is located in which of the following districts of Odisha?

(A) Jajpur
(Correct Answer) (Chosen option) 


(B) Bhadrak

(C) Gajapati

(D) Ganjam


Question No.42 Marks: 1.00
Bookmark
     

The sum of two digits is 12 and the sum of their reciprocals is 4/9. Find the larger of
these two digits.


(A) 2

(B) 4

(C) 9
(Correct Answer) (Chosen option) 


(D) 5


Question No.43 Marks: 1.00
Bookmark
     

What is the minimum age required to contest the election of Vice-President of India?

(A) 50 years


(B) 45 years

(C) 35 years
(Correct Answer) (Chosen option) 


(D) 30 years


Question No.44 Marks: 1.00
Bookmark
     

Find the fraction of 0.426262626

(A) 442/990


(B) 452/990

(C) 432/990

(D) 422/990
(Correct Answer) (Chosen option) 




Question No.45 Marks: 1.00
Bookmark
     

Which Constitutional Amendment Act added a new Fundamental Duty to the Indian
Constitution in 2002?


(A) 86th Constitutional Amendment
(Correct Answer) (Chosen option) 

(B) 62nd Constitutional Amendment


(C) 99th Constitutional Amendment

(D) 74th Constitutional Amendment


Question No.46 Marks: 1.00
Bookmark
     

Who appoints the Chairperson and members of National Human Rights Commission in
India? 


(A) President of India
(Correct Answer) (Chosen option) 

(B) Chief Justice of India
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(C) Prime Minister of India

(D) Union Ministry of Home Affairs


Question No.47 Marks: 1.00
Bookmark
     

Three numbers are in the ratio 11:13:15. If the difference between thrice the third
number and the sum of first and second number is 441. Find the difference between the
smallest and the largest number.


(A) 82

(B) 83

(C) 84
(Correct Answer) (Chosen option) 


(D) 85


Question No.48 Marks: 1.00
Bookmark
     

In which of the following Mountain ranges, the world’s highest peaks are located?

(A) Himadri
(Correct Answer) (Chosen option) 


(B) Aravalli Range

(C) Western Ghats

(D) Eastern Ghats


Question No.49 Marks: 1.00
Bookmark
     

What value should come in the place of question mark (?) in the following question?

10005÷[(3/4)(73+67)-24(3/4)] = ?


(A) 115
(Correct Answer) (Chosen option) 

(B) 117


(C) 119

(D) 113


Question No.50 Marks: 1.00
Bookmark
     

In Odisha, the Khilafat Committee was formed at Cuttack under the presidency of:

(A) Hussien Rabi


(B) Akram Rusool
(Correct Answer)

(C) Maulana Azad


(D) Mulla Amar
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